2. Oyuki’s preferences over swords (good X) and all other consumption (good Y )

are given by U(X, Y ) = XY.
Her income is $16, the price of a sword is $2 and the price of the composite good is $1.
(a) Find Oyuki’s optimal consumption bundle (X*, Y *).
(b) Suppose that the price of sword goes up to $8. How much more income (above

$16) does Oyuki need so that her optimal consumption of swords is the same as before the price increase?
(c) Suppose that the price of sword goes up to $8. How much more income (above

$16) does Oyuki need so that her utility is the same as before the price increase?
(d)  Explain why the answers in b) and c) are different.
